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HHT-3 y 15 fua 

i) (2, 4, 8} 

) aT N R= {x, y} :x+2y= 8} T YH HEaR 

ii) (2, 4, 6} 

T) 3qGhT 

GhT- 12 
fayy-fërT 

|cos a - sin a | 

i) 0 

sin a 

d_1 
dx 

i) x= log y + c 
ii) x= etc 

= |�xb|, Ta 

ii) z 

cos a 

ii) (2, 4, 6, 8} 
iv) {1, 2, 3, 4} 

qurt,-1 0o 

ii) z 

t A+A=1, t a hl 

iv) 

i) y= log x + c 

1 

iv) 

1 

1 

1 
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i) 10- i) 

*) sin sin 
4 

1+x 

(2) 

iii) 

t T f, x=2 Ha? 

iv) 
9 

10 

2 tan (cos x) = tan(2 cos ec x) 

1 

l2x-3 uR >2 
1 

1 

T) farg3t( -2,4, -5 ) rT( 1, 2,3 ) at fHGI TTeft tT 
1 

T) fay s vftre fagoit A(2, 7), B(1, 1), C(10, 8) art fry 
1 

) fig átfry fa f(r) =x, fag x=1 T HaehftutI 
2 

2 

2 

2 
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T)uf y= tan 

(Q+*)=2 
dx 

(3) 

6)ut [x -5 -1]|0 2 1 
2 0 3 

-dx 

2 

2 

2 

2 

4 =0 , t x aT HIH 

[�+b b+
 
+ä]=2<� b ë] 

rg fay far f(x) = tan' (sin x + cos x), x > 0 T YZT 

5 

R= {( y):x-y, 3 Tt feT,GEÍx, y e N} yG 

T)YAH HUT (-vdx+2ry dy = 0 T ET hifI s 
5 

a) HrfUrG fafu feags fas fag A(a, b + e), B (b, c + a), 
c (c, a + b) G 5 
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T) tat y= 3x+ 2, x-31 Ti atftut x-1 d x= 1 far 

x +y+ 2z = 4 
x+2y +=1 
x+y +z=2 

(4) 

x+1 

7 

T)34 fagafMie ATA ÁfT, Hai fargd A(3,4, 1) srT 
B(5, 1,6) fuA arft GTy-4HdT à IL¥tI 5 

-6 

x+ 3y s 5 
x+y < 3 

=tl_ 2+1 

nl4 

x 0, y>0 

1 

5 

1 

)frz tfry fes : logsin 29 d0 = -log2 

5 

*-3_y-5_z-7 

dx 

8 

)YEHeT HHtTU (1+y')+ (*-e an)=0 t BT 
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